KS2 Quiz AnsSwWers

Q1. In September 2018 Dazzle was 11 years old and 128cm tall, his birthday is in August. In
September 2019 Dazzle was 136cm tall, Dazzle now can — (C) Sit in the back of the car,
using the seatbelt.

Q2. What is the stopping distance in car lengths for a car travelling at 30mph in wet
conditions? — (B) 12

Q3. If possible you should try not to cross between parked cars — True

Q4. Can you name 5 safe places to cross the road?
Pelican Crossing

Zebra Crossing

Pedestrian Crossing

Toucan Crossing

Pedestrian Island

Q5. What is the purpose of School Keep Clear road markings? — (B) To keep the area
outside the school clear

Q6. Look at the car signal, what does the driver intend to do? — (B) Reverse

Q7. What am I? | am the brightest of all, | help you stay bright and visible to other road users
during daylight — (A) Fluorescent

Q8. What could make it difficult to hear traffic when crossing a road? — (B) Listening to music
Q9. Which is the correct order of the green cross code? (C) Stop, Look, Listen, Think

Q10. You should have a white coloured reflector on the front of your bike and a red
coloured reflector at the back of your bike.

Q11. What side of the car is the safest to get out of? — (B) The side nearest the pavement

Q12. Can you name 5 reasons why active travel is good for you?
Helps you sleep better

Strengthens muscles and bones

Makes you feel better

Strengthens your lungs

Is good for your heart

Q13. If you have to cross at a junction you should — (A) Look and listen for traffic turning the
corner, especially from behind you

Q14. Name the following parts on a bike
A) Pedal arm
B) Frame
C) Spokes
D) Pedal

Q15. Can you name 5 different types of active travel?
Walking

Scooting

Cycling

Running



KS2 Quiz Answers

Park and Stride
5 min walk zone
Walking Bus

Q16. What type of material is best to wear in the dusk/dark, so that you are more visible to
road users? — Reflective material

Q17. When on your bike and riding on the road, you must obey traffic lights — True
Q18. You can still begin to cross the road when the green man is flashing — False

Q19. Unscramble the words

OHCOSL SGRSICON RLPAOT School crossing patrol
KARP NDA DTOSIRE Park and stride
HSEBILA CEOBAN Belisha beacon
COTNUA NGRSICONS Toucan crossing
FTIFCAR TLGIHS Traffic lights

Q20. A*STARS Mathematics Can you work out the following calculation?
A8 x (B3 + (C)135 - (D)9 =150



